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< EBAE > 1 B 3&E 28981 4§

5B | HiEE 10mS40 s1 s2 3 sS4 B8A | xo% &kt
I 10 A BHE 101.8 | 1003 | 1012 | 101.2 4045 | 21
I 13 | K& ERF 1012 | 1000 | 999 | 1042 4053 | 22 1226.1
I 16 —/i& & 1040 | 1042 | 1038 | 1043 4163 | 34

HE | HE 50m3 X 20 K1 K2 P1 P2 st s2 AR | X0 at
A | 16 AL & 92 95 95 93 91 87 553 12

A | 18 —/E #% 92 94 97 95 96 96 570 16 1672
A | 23 AIg EFHF 92 91 93 93 91 89 549 9
< A KE > 2 i #Beast 28850 g

S | SEE 10mS40 St s2 s3 sS4 aBH | X% okt
I 7 EIRs3:3 100.8 98.5 1035 | 1033 406.1 20
I 9 ING R 992 | 1000 | 101.1 | 1010 4013 | 18 1210.0
1 18 INE BE 1005 | 1030 | 1032 | 95.9 4026 | 20

SR | HE 50m3 % 20 K1 K2 P1 P2 st s2 AR | X0 At
Al 1 By @ 96 93 98 94 89 93 563 15

A | 15 KiE B 90 94 93 95 92 87 551 12 1675
A | 22 IV FERD 93 93 95 99 90 91 561 14
< Eifip N > 3 iz a5 28848 &

SiE | HE 10mS40 S1 s2 s3 s4 |/E | X0 %
I 6 B EE 101.6 | 1039 | 1023 | 103.7 4115 | 25
1 | 20 DEJEIS 1014 | 1039 | 1032 | 1039 4124 | 27 1235.8
1 22 BH #5535 1024 | 1030 | 1043 | 1022 4119 | 26

SR | HE 50m3 X 20 K1 K2 P1 P2 st S2 BR | X0 Akt
A 6 EE BK 89 90 92 93 89 87 540 7

A 8 B EE 93 93 95 94 90 93 558 15 1649
A 12 BH #bD 92 91 96 96 86 90 551 12
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5E | BE 10mS40 st s2 s3 sS4 /R | X0 %
1 15 YEED BeFE 1010 | 1016 | 1028 | 99.5 4049 | 22
I 17 #rh FH 103.1 | 1016 | 1034 | 1024 4105 | 25 1222.3
I 19 g 99.9 1038 | 101.3 | 101.9 4069 | 27

HE | HE 50m3 % 20 K1 K2 P1 P2 S1 S2 F=J- XD =11
A 9 farh Bl 93 91 95 94 91 88 552 9

A | 19 R 98 91 97 93 90 89 558 12 1648
Al 2 YEED BeFE 87 90 92 92 92 85 538 7
< EBEEXE > 5 I #BAast 28533 §R

HE | HE 10mS40 st s2 s3 sS4 AR | X0 a5
I 8 FE B 1015 | 1032 | 1037 | 1025 4109 | 24
I 11 B £ 1005 | 101.8 | 995 | 1025 4043 | 20 1219.3
I 23 KA AER 97.4 1047 | 1008 | 101.2 404.1 22

SiE | HE 50m3 X 20 Ki K2 P1 P2 s1 S2 #/a | Xo¥ &kt
A | 17 RS & 92 89 91 98 84 83 537 1"

A | 20 FE WE 93 87 97 94 88 89 548 12 1634
A | 24 KA ER 91 92 97 96 90 83 549 13
< hRKE > 6 iz E N 0.0 J=1

SR | HE 10mS40 S1 s2 S3 s4 ay | xok ARt
I 12 =% CAf2 0.0 0.0 0.0 0.0 0.0 0
1 14 HK EBE 0.0 0.0 0.0 0.0 0.0 0 D.N.S.
I 21 L EFRE 0.0 0.0 0.0 0.0 0.0 0

SE | BE 50m3 x 20 K1 K2 P1 P2 s1 s2 &/E | X0 att
A 7 FE EEKL 0 0 0 0 0 0 0 0

A | 10 HEK BE 0 0 0 0 0 0 0 0 DNS.
A | 14 BH% Zx 0 0 0 0 0 0 0 0
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